Non-Sales and Use Tax Grants, Maryland Economic Development Assistance Authority and Fund, Department of Commerce

Status as of June 22, 2021:

County	Applications Reviewed	Applications Approved	Approved Amount	County Portion by Population	Status
Allegany	10	4	\$35,000	\$114,363	Undersubscribed
Anne Arundel	169	115	\$1,023,051	\$967,211	Oversubscribed
Baltimore City	178	84	\$741,687	\$948,957	Undersubscribed
Baltimore	165	109	\$971,051	\$1,362,461	Undersubscribed
Calvert	19	13	\$115,913	\$154,061	Undersubscribed
Caroline	9	5	\$42,000	\$55,406	Undersubscribed
Carroll	50	29	\$243,364	\$278,310	Undersubscribed
Cecil	7	3	\$27,000	\$170,271	Undersubscribed
Charles	38	23	\$206,000	\$275,032	Undersubscribed
Dorchester	10	6	\$54,000	\$52,539	Oversubscribed
Frederick	71	52	\$459,400	\$443,092	Oversubscribed
Garrett	4	3	\$27,000	\$47,443	Undersubscribed
Harford	56	37	\$321,000	\$426,282	Undersubscribed
Howard	94	68	\$607,395	\$547,080	Oversubscribed
Kent	6	3	\$27,000	\$31,981	Undersubscribed
Montgomery	438	292	\$2,581,342	\$1,739,545	Oversubscribed
Prince George's	269	163	\$1,433,898	\$1,498,231	Undersubscribed
Queen Anne's	32	17	\$151,500	\$83,831	Oversubscribed
Somerset	2	1	\$9,000	\$42,266	Undersubscribed
St. Mary's	19	14	\$126,000	\$189,747	Undersubscribed
Talbot	12	8	\$69,000	\$61,653	Oversubscribed
Washington	64	35	\$312,400	\$250,328	Oversubscribed
Wicomico	65	36	\$318,499	\$172,682	Oversubscribed
Worcester	15	11	\$97,500	\$87,229	Oversubscribed
Statewide	1,802	1,131	\$10,000,000	\$10,000,000	Fully Subscribed

Individual Awardees, As of June 22, 2021:

County/	Disadvantages Businesses		All Businesses	
Zip Code	Number	Award	Number	Award
Allegany	2	\$18,000	4	\$35,000
21502	2	\$18,000	4	\$35,000
Anne Arundel	49	\$439,250	115	\$1,023,051
20711	1	\$9,000	1	\$9,000
20724	1	\$9,000	2	\$18,000
20776	1	Ψ,000		\$9,000
21012	1	\$9,000	2	\$15,000
21032	1	\$9,000	1	\$9,000
21035	1	\$9,000	1	\$9,000
21037	1	Ψ2,000	5	\$44,414
21054	2	\$18,000	8	\$72,000
21060	1	\$9,000	2	\$18,000
21061	4	\$35,000	12	\$105,500
21075	1	\$9,000	12	\$9,000
21076	4	\$35,500	6	\$52,500
21076	<u> </u>		1	
	1	\$9,000		\$9,000
21108 21113	2	\$27,000	<u>2</u>	\$17,900
21113	2			\$54,000
		\$18,000	6	\$54,000
21122	3	\$27,000	5	\$45,000
21144	1	\$9,000	1	\$9,000
21146	3	\$27,000	9	\$80,750
21240	2	\$18,000	2	\$18,000
21401	16	\$143,750	34	\$301,987
21403	1	\$9,000	4	\$36,000
21409		0.460,000	3	\$27,000
Baltimore	52	\$460,000	109	\$971,051
20871		Φ2 (000	1	\$9,000
21030	4	\$36,000	7	\$63,000
21043		Φ 2 π 000	1	\$9,000
21093	3	\$27,000	9	\$81,000
21111		Φ2π 000	1	\$9,000
21117	3	\$27,000	6	\$53,051
21120	1	\$9,000	2	\$18,000
21131		***	2	\$18,000
21133	3	\$26,500	5	\$44,500
21136	1	\$9,000	1	\$9,000
21152	1	\$9,000	1	\$9,000
21155			1	\$9,000
21162	1	\$9,000	2	\$18,000
21201			1	\$9,000
21204	3	\$23,000	6	\$50,000
21206			1	\$9,000
21207			1	\$9,000
21208	4	\$33,000	8	\$69,000
21209	2	\$17,500	2	\$17,500

County/	Disadvantages Businesses		All Businesses	
Zip Code	Number	Award	Number	Award
21212	1	\$9,000	2	\$18,000
21215			1	\$9,000
21220	3	\$27,000	4	\$36,000
21221	1	\$9,000	2	\$18,000
21222	1	\$9,000	1	\$9,000
21224	1	\$9,000	1	\$9,000
21227	2	\$18,000	3	\$27,000
21228	7	\$63,000	12	\$108,000
21229	1	\$9,000	1	\$9,000
21230			1	\$9,000
21234	1	\$9,000	4	\$35,000
21236	5	\$45,000	9	\$81,000
21237			1	\$9,000
21244	2	\$18,000	4	\$36,000
21282	1	\$9,000	1	\$9,000
21286		** ,* **	4	\$36,000
Baltimore City	39	\$345,342	84	\$741,687
21093	1	\$9,000	1	\$9,000
21201	1	\$7,000	6	\$52,000
21202	3	\$27,000	7	\$61,800
21206	1	\$9,000	2	\$18,000
21207	1	\$9,000	<u> </u>	\$9,000
21208	1	\$9,000	1	\$9,000
21209	1	\$9,000	2	\$18,000
21211	3	\$27,000	10	\$89,000
21212	1	\$8,500	1	\$8,500
21213		ψο,ε σσ	1	\$9,000
21214			1	\$9,000
21215	4	\$36,000	8	\$71,000
21216	2	\$18,000	2	\$18,000
21217		Ψ10,000	<u> </u>	\$9,000
21218	2	\$18,000	5	\$45,000
21223	1	\$9,000	2	\$18,000
21224	8	\$71,842	17	\$152,342
21228	1	\$9,000	1	\$9,000
21229		Ψ,,σσσ	1	\$7,545
21230	6	\$51,000	11	\$92,500
21231	1	\$9,000	2	\$18,000
21234	1	\$9,000	1	\$9,000
Calvert	2	\$18,000	13	\$115,913
20639		\$10,000	3	\$26,300
20678			2	\$18,000
20685			1	\$9,000
20688			1	\$9,000
20732			1	\$8,613
20736	1	\$9,000	2	\$18,000
20754	1	\$9,000	3	\$27,000
Caroline	1	\$9,000 \$9,000	5	\$42,000 \$42,000
21629	1	Ψ2,000	2	\$15,000

County/	Disadvantages Businesses		All Businesses	
Zip Code	Number	Award	Number	Award
21632			2	\$18,000
21655	1	\$9,000	1	\$9,000
Carroll	6	\$53,600	29	\$243,364
21048	2	\$17,600	3	\$26,600
21074	1	\$9,000	3	\$27,000
21102			2	\$18,000
21157	3	\$27,000	8	\$72,000
21771			1	\$9,000
21776			1	\$9,000
21784			9	\$67,500
21787			2	\$14,264
Cecil			3	\$27,000
21901			1	\$9,000
21921			2	\$18,000
Charles	11	\$99,000	23	\$206,000
20601	2	\$18,000	4	\$36,000
20602	2	\$18,000	6	\$54,000
20607	1	\$9,000	1	\$9,000
20616		•	2	\$18,000
20637			1	\$9,000
20640	1	\$9,000	1	\$9,000
20646	4	\$36,000	6	\$54,000
20675	1	\$9,000	1	\$9,000
20677			1	\$8,000
Dorchester	2	\$18,000	6	\$54,000
21613	1	\$9,000	4	\$36,000
21659			1	\$9,000
21677	1	\$9,000	1	\$9,000
Frederick	14	\$118,650	52	\$459,400
21701	2	\$14,000	11	\$95,000
21702	1	\$9,000	6	\$53,000
21703	3	\$23,700	5	\$41,700
21704	3	\$26,951	13	\$116,951
21710			3	\$27,000
21714			1	\$8,750
21754			2	\$18,000
21755	1	\$9,000	1	\$9,000
21769			2	\$18,000
21771			1	\$9,000
21774	2	\$17,999	4	\$35,999
21788	2	\$18,000	2	\$18,000
21791		·	1	\$9,000
Garrett	2	\$18,000	3	\$27,000
21541	1	\$9,000	1	\$9,000
21550	1	\$9,000	2	\$18,000
Harford	11	\$97,500	37	\$321,000
21001	1	\$9,000	1	\$9,000
21009	1	\$9,000	1	\$9,000
21014	3	\$25,500	11	\$95,500

County/	Disadvantages Businesses		All Businesses	
Zip Code	Number Award		Number Award	
21015	1	\$9,000	6	\$53,000
21034			1	\$3,000
21040			1	\$9,000
21047	3	\$27,000	4	\$36,000
21050	1	\$9,000	6	\$53,500
21078			3	\$27,000
21084			1	\$9,000
21085	1	\$9,000	2	\$17,000
Howard	37	\$331,495	68	\$607,395
20723	3	\$27,000	5	\$45,000
20759	1	\$9,000	3	\$27,000
20763	2	\$18,000	3	\$27,000
20777	1	\$9,000	2	\$18,000
21029	4	\$35,000	5	\$44,000
21042	9	\$80,500	15	\$134,500
21043	3	\$27,000	7	\$63,000
21044	2	\$18,000	4	\$35,500
21045	6	\$53,995	12	\$105,495
21046	3	\$27,000	4	\$36,000
21075	2	\$18,000	4	\$36,000
21163		4-0,000	1	\$9,000
21737			1	\$9,000
21738	1	\$9,000	1	\$9,000
21794		42,000	1	\$8,900
Kent	1	\$9,000	3	\$27,000
21620	1	\$9,000	2	\$18,000
21678		Ψ3,000		\$9,000
Montgomery	129	\$1,144,162	292	\$2,581,342
20184	1	\$9,000	1	\$9,000
20814	8	\$71,999	16	\$143,499
20815	1	\$9,000	4	\$36,000
20817	3	\$27,000	12	\$108,000
20832	1	\$9,000	5	\$44,000
20833	1	\$9,000	4	\$35,500
20837		42,000	1	\$9,000
20841	1	\$9,000	1	\$9,000
20850	18	\$160,750	35	\$313,250
20852	16	\$143,998	30	\$269,498
20853	1	\$9,000	1	\$9,000
20854	3	\$27,000	9	\$80,999
20855	1	\$9,000	4	\$36,000
20861	1	Ψ2,000		\$9,000
20866			1	\$9,000
20868	1	\$9,000	1	\$9,000
20808	5	\$43,500	7	\$61,000
20872	2	\$18,000	3	\$27,000
		\$71,500	13	\$113,500
20874				
20874 20876	<u>8</u> 2	\$14,000	6	\$48,999

County/	Disadvantages Businesses		All Businesses	
Zip Code	Number	Award	Number	Award
20878	12	\$108,000	31	\$271,983
20879	5	\$45,000	13	\$110,499
20882	2	\$18,000	3	\$27,000
20886	4	\$36,000	6	\$54,000
20895	3	\$27,000	8	\$68,000
20901	1	\$9,000	5	\$45,000
20902	8	\$72,000	14	\$126,000
20903		·	1	\$9,000
20904	6	\$50,700	8	\$68,700
20905	3	\$26,000	3	\$26,000
20906	2	\$18,000	6	\$54,000
20910	2	\$18,000	14	\$123,500
20912	3	\$22,715	9	\$76,715
21701	1	\$9,000	1	\$9,000
21704	1	\$9,000	1	\$9,000
22101			1	\$9,000
200850			1	\$9,000
200852	1	\$9,000	1	\$9,000
Prince George's	81	\$714,101	163	\$1,433,898
20607	2	\$17,500	3	\$26,500
20613	1	\$9,000	3	\$27,000
20705	5	\$44,900	9	\$80,900
20706	6	\$54,000	9	\$80,000
20707	3	\$27,000	9	\$81,000
20708	2	\$17,580	4	\$34,980
20710	1	\$9,000	1	\$9,000
20712	1	\$9,000	3	\$27,000
20715	5	\$44,900	7	\$62,900
20716	3	\$27,000	6	\$52,500
20720	3	\$27,000	4	\$36,000
20721	1	\$9,000	3	\$27,000
20722	1	\$9,000	1	\$9,000
20724	1	\$9,000	1	\$9,000
20735	3	\$25,823	8	\$59,221
20737	2	\$18,000	3	\$27,000
20740	3	\$27,000	8	\$72,000
20742		Ψ27,000	1	\$9,000
20743	4	\$35,999	6	\$53,999
20744	3	\$21,500	6	\$48,000
20746	1	\$9,000	2	\$18,000
20747	1	Ψ,000	2	\$18,000
20748	1	\$9,000	7	\$62,500
20769	1	\$9,000	2	\$18,000
20770	5	\$43,500	14	\$124,499
20772	6	\$53,999	8	\$69,499
20774	9	\$81,000	14	\$126,000
20781	1	\$9,000	2	\$120,000
20782	1	\$2,000	1	\$9,000
20102			1	\$2,000

County/	Disadvantages	Businesses	All Busines	sses
Zip Code	Number	Award	Number	Award
20785	5	\$40,000	10	\$85,000
20878			1	\$9,000
20912	1	\$9,000	2	\$18,000
Queen Anne's	8	\$72,000	17	\$151,500
21617			1	\$9,000
21619	5	\$45,000	6	\$54,000
21638	1	\$9,000	1	\$9,000
21658	1	\$9,000	1	\$9,000
21666	1	\$9,000	8	\$70,500
Somerset			1	\$9,000
21817			1	\$9,000
St. Mary's	6	\$54,000	14	\$126,000
20619	4	\$36,000	7	\$63,000
20622			1	\$9,000
20634			1	\$9,000
20650	1	\$9,000	2	\$18,000
20653	1	\$9,000	2	\$18,000
20680			1	\$9,000
Talbot	3	\$27,000	8	\$69,000
21601	2	\$18,000	5	\$42,000
21654	1	\$9,000	1	\$9,000
21663			1	\$9,000
21673			1	\$9,000
Washington	9	\$81,000	35	\$312,400
21713			1	\$9,000
21733	1	\$9,000	2	\$18,000
21740	7	\$63,000	20	\$180,000
21742	1	\$9,000	10	\$87,900
21783			1	\$9,000
21795			1	\$8,500
Wicomico	15	\$133,999	36	\$318,499
19940	1	\$9,000	2	\$18,000
21801	8	\$71,999	17	\$151,499
21804	6	\$53,000	11	\$95,000
21826			2	\$18,000
21838			1	\$9,000
21849			1	\$9,000
21875			2	\$18,000
Worcester	4	\$34,500	11	\$97,500
21401	1	\$9,000	1	\$9,000
21811	3	\$25,500	6	\$52,500
21842			4	\$36,000
Grand Total	484	\$4,295,599	1,131	\$10,000,000

Source: Department of Commerce, June 30 Status Report